Math 61. Spring 2006 QUIZ #3 @ 30 points Name: f . '
Write in a neat and organized fashion. Use a pencil. Show all work to get credit. Cw 7y ONS

1. First, draw a parallelogram. Then answer the following questions. Write all your answers using
mathematical notation pertinent to your drawing.
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a) How are the sides of a parallelogram? Write all the
relationships between the sides of a parallelogram.
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b) How are the angles of a parallelogram? Write all the relationships between the angles of a
parallelogram. Which angles are congruent? Which angles are supplementary? What is the sum of the
measures of all angles?
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¢) How are the diagonals of a parallelogram? '7@47 brgect each ctter.
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2. First, draw a rhombus. Then answer the following questions. Write all your answers using
mathematical notation pertinent to your drawing.

4 a) How are the sides of a rhombus? Write all the
relationships between the sides of a rhombus.
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b) How are the angles of a rhombus? Write all the relationships between the angles of a rhombus.
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3. Use the figure to answer the questions.
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a) What is PRFG? Why?
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b) IfPR =6 cm, find GF. G F
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¢) IfGF=26in, find PR. __ yra—

4. Use the ﬂgufe to answer the questions.
A
M [ \ N

Given: ABCD trapezoid
M, N midpoints

a) What relationship exists between the bases of the trapezoid?
(use mathematical notation)
—— — D
4B Y I ¢
b) What is the median of the trapezoid? i
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5. Use the figure to answer the questions.
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